


01 |Caa ks 87 8G2 4S E Caa ks 88 6- 8T-E
02 | 100BEET SP L 86 400] 05
03 |Cna ks 85 5-24 EM 1,07 p00[ 0.5 Caals 86 6- 8TS E
04 |Caalys 85624 BE 1,07 600] 0.5 Caals 86 6- 8TS E
05 |Caa s 87 5-& &T BE Caals 88 6 8T-E
06 | 100BEET SP L 86 400] 01
(o7 | sakike 50 o 13 600 0.1
3 08 |Caa ks 87 BX2 & ES 8 1,49 00| 005 Caa s 88 6 8T-E
(0o ] ssv s 85 600] 0 05
10 |QXS 94 & 4x2Q 120 000 0.1
(1] &r (3 61 600 0.1
12 AGBE0 W 112 poo] 0.1
13| weveoy 28 20 800 0.1
14 31 200 0.1
[15 | 100Bae sxsP 36 000 0.1
16 |Q XS 52 & ax2Q 614 400] 0 05
17 |Cha ks 29 2-X 65 840 0.5 QXS 01 6T 4G
18 |C ta ks @9 BMXL 65 840 0.5 QXS 01 6T 4G
19 |Cha ks 29 3-X 78 160 0.5 QXS 02 T 4G
20 |C aa s €9 B-12 65 840 0.5 QXS 01 6T 4G
21 |Caa ks 09 5-24 217 600[ 0.5 C aia s 29 OX 24TS LL
22 |Caalys 29 6-24 T-L 217 600[ 0.1 C aia s 29 OX 24TS LL
23 |Caa s 09 6G2 4C L 436 000] 0.1 Caa s 09 6X 24TD L
L2 24 |C na s 29 6-8T &L 32 400] 0.1 QXS 00 & 2G
25 |ES0 0/ 24 B 78 160 0.1 QXS 02 T 4G
[26 |caays 0o oX2 @S L 367 200 0.1
27_|C na lys 89 6X-4 8P SL 757 00| 0.1
28 [OXS16 B 65 840 0 05 QXS 01 6T 4G
29 [Qxsza P 78 160] 0 05 QXS 02 T 4G
30 |Caa ks 29 6-X Fle® ak A & 137 p00| 0 05
31 |QXS 02 & 4G 78 160] 0 10
32 [AR @ B4 25-K9 746 400[ 0.1
o [ B |AR @ Ba AT 11 200 0.1
34 [AR 803020 8 216 000[ 0.1 AR @P 30 2- QK9
35 AR WRNA 20 poo] 0.1 AR PRN 6
Cic @2 2( BR221/ 8 SW1
36 |Csc @ 2XM 277 p40| 0.5 NMAT
TA 3 X21
37 |l R5 463 103 00| 0.1 | ®5 CL 81
38 |1 B5 QL 12 | B5 (B 9F JK 9
39 | P8 G729 B.12 8B RA 115 200 0.1
40 |1 #5 01 82 115 200 0.1 | ®5 (8 9F JK O
21 |1 RS 325 1,86 400] 005 Caa ks 88 6- 8T-E
22 | ma 115 200 005 |_B5 (B 9F JK O
43 |1 RS 08 9 115 2000 05 | ®5 (8 9F JK O
44 |1 RS (8 aF 3K9 115 200] 0 05
45 |1 B8 XF 920 66 400] 0 05
46 |l %25 94 400] 005
47 |Am 23 86 400] 0.5
48 [Am 138 86 400] 0.5
49 |D N2 80 WB 86 400] 0 05
50 [D N2 80 VB AP 86 400] 0 05
51 |D N2 80 W6 86 400] 0 05
s 52 [D N2 80 V6 AP 86 400] 0 05
53 |D N2 80 WBE 36 720 0.1
54 |D N2 80 @8 ENP 36 720 0.1
55 |D M2 80 @BE 36 720 0.1
56 _[D N2 80 VB AP 151 2000 0.1
[ 57 [Dae 8o vb 151 200] 0.1
58 |0 PA 28 0G 25 440 1.0
50 [Du8 owsE 100 440 0 05
60 |D B OWSE 109 440] 0 05
61 D &8 owssE 36 720] 005
62 |D BB OWEBE 36 720] 0 05
M 63 |D NH 2 115 200 0.1 D AD 2E 1P
64 |D NH 02 BVP 201 600[ 0.1 DM 2EIP SN M
[65 |cet ec@ Fs70 gRL 32 400 0.5 QXS 00 & 2G
66 |E B0 Ao2m 65 840 0.5 QXS 01 6T 4G
[ 67 [E &0 BK 32 400] 0.5 QXS 88 E
68 |E B0 51 M 65 840 0.5 QXS 01 6T 4G
[eo |F %0 8P 32 400] 0.5 QXS 00 & 2G
70 |F 30 8PL 32 400] 0.5 QXS 00 & 2G
71 |F 80 8L 32 400] 0.5 QXS 00 & 2G
72 [Fso &t 32 400] 0.5 QXS 88 E
73 |F X0 8T 32 400] 0.5 QXS 00 & 2G
74 |R@ 1XB 32 400] 0.5 QXS 00 & 2G
75 [QXs v8E 32 400] 0.5 QXS 00 & 2G
76 [Qx8 6E 32 400] 0.5
77 |QxS86 B 65 840 0.5
78 [OxS@4p 78 160 0.5
79 [Q XS 00 8T 2G 32 400] 0.5
80 _|Q XS 01 6T 4G 65 840 0.5
81 Tped Bl Isze  XSL08G B 2 240 0.1
82 |UP 5¢ 900 7.0 10 M
83 |RJ4S5 620 140
84 25 poo] 2.0
85 20 poo| 15
86 (178 8 8 26 poo| 15
87 ( 30 poo| 15




